27 'm here to buy some leather shoes for these twin girls.

28 (seeing that one of the girls has a disability) I'm sorry about
your daughter’s foot. May | ask you if she was born with a
disability?

29 Oh, I'm not her real mother. Her mother hurt this girl’s leg
while she was giving birth to her. Their parents are both dead
now.

30 | felt sorry for them. | loved these twins so much that | decided
to adopt them.

31 Wlichael smiles for the third time.)

32 (Suddenly, a mysterious light shines from Michael.)

33 What's this light shining from you? / It's about time | left here.

34 What do you mean? And why did you just smile?

35 Let me explain. | am an angel. | was sent here as a
punishment, and | was supposed to learn three truths.

36 Every time | learned one of them, | smiled. Now that | have
learned all three of them, | am ready to go back.

37 I see. What truths have you learned?

38 Michael thinks back to each time that he smiled. Simon and
Matrena listen carefully to him.

39 First, | learned that love dwells in human beings when
Matrena pitied me.

40 This was the answer to the first lesson: Learn what dwells in
human beings.

41 | smiled because | learned the truth. But | still had two more
to figure out.

42 What were they?

43 The second was, “Learn what is not given to people.”

44 When the nobleman ordered that his boots were to last for a
year, | knew he would die soon.

45 Then | realized people know little about their own future
needs.

46 What was the last truth?

47 It was from the story of the woman and the twin girls.

48 After the death of their mother, the woman brought them up
with her love.

49 Then, | learned people live by having true love for each other.

That was the third lesson: What people live by.

[ aa Review P79

A 01 He doesn’t want anyone to visit him.
02 You're supposed to make up with him as soon as possible.
03 A poor shoe maker, Simon, fails to buy a warm coat.
04 For a week, Michael does no work to support himself.
05 Please stop making boots and start making soft slippers

for a dead body instead.
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B 01 Put simply, | am being punished.
02 The woman brought them up with her love.
03 I'm afraid you've been doing nothing since you came here.
04 I loved these twins so much that | decided to adopt them.
05 I'd like to order fine leather boots that[which] have to last

for a year.
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